Gallup Omnibus Data 1971, omnibus nr. 02

DDA-417

Indholdsfortegnelse

Variabelliste

V1 7102 DDA STUDY NUMBER

V2 7102 YEAR

V3 7102 BUS NUMBER

V4 7102 DOCUMENT NUMBER

V5 7102 SEQUENCE NUMBER

V6 7102 MONTH

V7 7102 RESPONDENT ID

V8 7102 WEIGHT VARIABLE

V9 7102 URBANIZATION

V10 7102 SEX

V11 7102 AGE

V12 7102 MARITAL STATUS

V13 7102 RS OCCUPATION

V14 7102 RS EDUCATION

V15 7102 RS INCOME

V16 7102 FAMILY INCOME

V17 7102 SUPPORTER! PAT.
V18 7102 SIZE OF H EHOLD
V19 7102 TYPE OF DWELLING
V20 7102 NUMBER OF CHILDREN
V21 7102 NUMBER OF ADULTS
V22 7102 HEAD OF FAMILY

V23 7102 HOUSEWIFE

V24 7102 OTHER ADULT

V25 7102 H EWIFES POSITION
V26 7102 SOCIAL GROUP

V27 7102 PARTY PREFERENCE
V28 7102 DRIVING LICENSE

V29 7102 DRIVING FREQS

V30 7102 DRIVING VELOCITY
V31 7102 CAUSES OF ACCIDENTS
V32 7102 VERNMENTS POLICY
V33 7102 WHAT GOVERNMENT
V34 7102 HOUSING PROBLEM
V35 7102 ECONOMIC PROBLEMS
V36 7102 POLLUTION PROBLEMS
V37 7102 TRAFFIC PROBLEMS
V38 7102 SOCIAL WELFARE DEV.
V39 7102 HEALTH SERVICES DEV
V40 7102 DEV. NTRIES, AID
V41 7102 NON IAL GOVERNM.
V42 7102 ECONOMIC TIGHTENING
V43 7102 FREE SPEED LIMITS
V44 7102 WHAT LIMIT

V45 7102 POLITICAL INFLUENCE
V46 7102 NOT POL. INFLUENCE

Variabler

e V17102 DDA STUDY NUMBER

Revision: 395



= Double (0 decimaler)

Gyldige 1321
Manglende 0
Minimum 417
Maximum 417
Gennemsnit 417
Median 417

Standardafvigelse 0

e V27102 YEAR

= Double (0 decimaler)
n

Gyldige 1321
Manglende 0
Minimum 1971
Maximum 1971
Gennemsnit 1971
Median 1971

Standardafvigelse 0

e V37102 BUS NUMBER
In 1971 The Danish Gallup Institute carried out 11 surveys (omnibuses), one for each month with the exception of
July. The surveys are numbered in succession (from 01 through 11). This variable has the value 02 for all cases.
o Bus number.

» Double (0 decimaler)
n

Gyldige 1321
Manglende 0
Minimum 2
Maximum 2
Gennemsnit 2
Median 2
Standardafvigelse 0

e V4 7102 DOCUMENT NUMBER
The variable has the value 01 in every case.

o Document number.

= Double (0 decimaler)

| |
Gyldige 1321
Manglende 0
Minimum 0
Maximum 0
Gennemsnit 0
Median 0
Standardafvigelse 0

e V5 7102 SEQUENCE NUMBER
The variable consists of the serial numbers of the respond ents, within the individual omnibuses.

o Sequence number.

= Double (0 decimaler)
| |

Gyldige 1321
Manglende 0
Minimum 1
Maximum 1984
Gennemsnit 996

Median 1007



Standardafvigelse 573

e V6 7102 MONTH

In 1971 The Danish Gallup Institute carried through 11 omnibus surveys (omnibuses), one for each month with the
exception of July.

o Gallup Variables.
o 101: Month.
% MD% Antal Kode Kategori

100 100 1321 2 February
100

Svarprocent: 100

e V7 7102 RESPONDENT ID
The original Gallup identification number.

o Gallup Variables.
o 102-106: Respondent identification humber.

= Double (0 decimaler)
n

Gyldige 1321
Manglende 0
Minimum 6
Maximum 2500
Gennemsnit 1235
Median 1195

Standardafvigelse 725

e V8 7102 WEIGHT VARIABLE

This variable was generated by the DDA. Its value indicates the number if times a given case occurred in the original
card weighted data file. The duplicate cases have been removed on the basis of a comparison of V7.

o Gallup Variables.
o Weight variable

% MD% Antal Kode Kategori

58 58 765 1 the case
occurred
once

35 35 466 2 the case
occurred 2
times

6 6 73 3 the case
occurred 3
times

1 1 16 4 the case
occurred 4
times

0 0 1 5 the case
occurred 5
times

100 100 1321
Svarprocent: 100

e V9 7102 URBANIZATION
o Gallup Variables.

o 108: Urbanization.

% MD% Antal Kode Kategori
15 15 192 1 capital



9 9 124 2 suburbs

35 35 466 3 provincial
towns

41 41 539 4 rural districts
100 100 1321

Svarprocent: 100

e V10 7102 SEX
o Gallup Variables.

o 112: Sex.

% MD% Antal Kode Kategori

54 54 715 1 men

46 46 606 2 women
100 100 1321

Svarprocent: 100

e V117102 AGE
o Gallup Variables.

o 112: Age.

% MD% Antal Kode Kategori
8 8 103 115 -19 years
10 10 130 2 20 - 24 years
9 9 120 3 25 - 29 years
14 14 186 4 30 - 39 years
17 17 223 540 - 49 years
25 25 328 6 50 - 64 years

17 17 231 7 65 years or
more

100 100 1321
Svarprocent: 100

e V12 7102 MARITAL STATUS
o llup Variables.

o 112: Marital status.

% MD% Antal Kode Kategori
20 20 270 1 single
68 68 895 2 married

12 12 156 3 previously
married

100 100 1321

Svarprocent: 100

e V13 7102 RS OCCUPATION
o Gallup Variables.

o 113: Respondents occupational status.

% MD% Antal Kode Kategori

14 14 188 1 workers,
unskilled

10 10 132 2 workers,
skilled

12 12 156 3 salaried
employees,
lower grade

5 5 65 4 other

salaried



persons
7 7 99 5 farmers,
independent

3 3 34 6 independent
shopkeepers
or artisans

4 4 54 7 other
independent

9 9 119 8 apprentice,

pupil,
student etc.

17 17 222 9 pensioners or
other
persons
without
occupation

19 19 252 10 married
women
without
employment

100 100 1321
Svarprocent: 100

e V14 7102 RS EDUCATION
o llup Variables.

o 114: Education.

% MD% Antal Kode Kategori
73 73 969 1 elementary school
19 19 250 2 junior highschool
85 3 highschool/university
16 4 won't answer
1 8
100 100 1321
Svarprocent: 100

[y
[are

e V15 7102 RS INCOME
Income is the total money-income (wage salary paid) before any deduction for tax payment.

o Gallup Variables.
o 114: Income of respondent.

% MD% Antal Kode Kategori

21 21 274 10 kr.
17 17 219 21-11.999

kr.
11 11 146 312.000 -
17.999 kr.
9 9 119 4 18.000 -
25.999 kr.
12 12 165 5 26.000 -
33.999 kr.
14 14 188 6 34.000 -
49,999 kr.
7 7 88 7 50.000 kr. or
more
9 9 122 8 won't answer

100 100 1321
Svarprocent: 100

e V16 7102 FAMILY INCOME
Income is the total money-income (wage salary paid) before any deduction for tax payment.

o Gallup Variables.

o 115: Total family income.



% MD% Antal Kode Kategori
6 6 76 1-11.999 kr.
10 10 134 212.000 -
17.999 kr.
7 7 98 3 18.000 -
25.999 kr.
11 11 140 4 26.000 -
33.999 kr.
21 21 282 5 34.000 -
49.999 kr.
15 15 200 6 50.000 -
74.999 kr.
7 7 99 7 75.000 kr. or
more

22 22 292 8 don't
know/won't
answer

100 100 1321
Svarprocent: 100

e V17 7102 SUPPORTERS OCCUPAT.
o Gallup Variables.

o 116: Supporters occupation.

% MD% Antal Kode Kategori
15 15 200 1 workers,
unskilled
14 14 191 2 workers,
skilled
12 12 164 3 salaried
employees,
lower grade
8 8 103 4 other
salaried
persons
15 15 200 5 farmers,
independent
4 4 56 6 independent
shopkeepers
or artisans
8 8 100 7 other
independent
3 3 41 8 apprentice,
pupil,
student etc.

19 19 245 9 pensioners or
other
persons
without
occupation

2 2 20 10 married
women
without
employment

0 1 88
100 100 1321

Svarprocent: 100

e V18 7102 SIZE OF HOUSEHOLD
o Gallup Variables.

o 117: Total humber of persons (in household).

% MD% Antal Kode Kategori
13 13 177 11 person

34 34 450 2 2 persons
20 20 266 3 3 persons



20 20 261 4 4 persons
8 8 111 5 5 persons

4 4 56 6 6 or more
persons

100 100 1321
Svarprocent: 100

e V19 7102 TYPE OF DWELLING
o Gallup Variables.

o 117: Type of dwelling.

% MD% Antal Kode Kategori
41 42 543 1 own house

7 7 90 2 rented house
17 17 222 3 own
farm/rented
farm

4 4 51 4 apartment in
private home

29 30 386 5 apartment
2 29 8
100 100 1321

Svarprocent: 98

e V20 7102 NUMBER OF CHILDREN
o llup Variables.

o 118: Number of children under 15 years.

% MD% Antal Kode Kategori

16 43 214 11 child

15 40 195 2 2 children
5 12 60 3 3 children

2 5 24 4 4 or more
children
63 828 9 Uoplyst

100 100 1321
Svarprocent: 37

e V21 7102 NUMBER OF ADULTS
o Gallup Variables.

o 118: Number of adults in household (15 years or more).

% MD% Antal Kode Kategori
15 15 196 11 adult
58 58 765 2 2 adults
18 18 239 3 3 adults

9 9 121 4 4 adults or
more

100 100 1321
Svarprocent: 100

e V22 7102 HEAD OF FAMILY
o Gallup Variables.

o 118: Respondents positions in household.

% MD% Antal Kode Kategori

55 100 722 1 head of the
family

45 599 0 Irrelevant
100 100 1321



Svarprocent: 100

e V23 7102 HOUSEWIFE
o Gallup Variables.

o 118: Respondents positions in household.

% MD% Antal Kode Kategori
42 100 550 1 housewife
58 771 0 Irrelevant
100 100 1321

Svarprocent: 100

e V24 7102 OTHER ADULT
o llup Variables.

o 118: Respondents positions in household.

% MD% Antal Kode Kategori

16 100 217 1 other adult

84 1104 0 Irrelevant
100 100 1321

Svarprocent: 100

e V25 7102 HOUSEWIFES POSITION
o Gallup Variables.

o 119: Position of housewife.

% MD% Antal Kode Kategori
7 7 98 1 no housewife

56 56 734 2 housewife
without
employment

17 17 221 3 housewife
with full-time
employment

14 14 185 4 housewife
with part-
time
employment

6 6 83 5 housewife
who helps
husband

100 100 1321
Svarprocent: 100

e V26 7102 SOCIAL GROUP
o Gallup Variables.

o 119: Social group.

% MD% Antal Kode Kategori
59 59 785 1grouplI
37 37 490 2 group II
3 3 45 3 group III
0 1 8
100 100 1321

Svarprocent: 100

e V27 7102 PARTY PREFERENCE



Gallup Variables.

o 122-123: For which party would you vote in case of a general election tomorrow?

% MD% Antal Kode Kategori

31 31 408 1A.
Socialdemokratiet

8 8 110 2 B. Radikale
9 9 123 3 C. Konservative
11 11 140 4 D. Venstre
0 0 6 5 E. Retsforbundet
1 1 10 6 K. Kommunister
0 0 6 7 U. De Uafhaengige
2 2 32 8 F. Socialistisk
Folkeparti
0 0 0 9 L. Liberalt Centrum
0 0 10 S. Slesvigsk Parti
1 1 16 11 Q. Kristeligt

Folkeparti
1 1 8 12.
Venstresocialisterne
15 15 195 13 don't know which
party
7 8 99 14 no right of voting
41 15 would not vote

1 1 17 16 don't know whether
would vote or not

5 5 60 17 refuse to answer
which party

2 2 27 18 refuse to answer
whether would vote
or not

1 13 88

1 10 99 Uoplyst

100 100 1321
Svarprocent: 98

e V28 7102 DRIVING LICENSE
o Special variables, Omnibus no. 02.

o 162A: Have you got a driving license?

% MD% Antal Kode Kategori
50 51 665 1yes
48 49 640 2 no
0 2 8
1 14 9 Uoplyst
100 100 1321

Svarprocent: 99

e V29 7102 DRIVING FREQS
o ial variabl mni no. 02.

o 162B: How often do you drive a car, every day or almost every day, often, now and then, seldom or never?

% MD% Antal Kode Kategori

34 66 445 1 every day or
almost every
day

7 14 94 2 often

7 15 99 3 now and
then

3 6 38 4 seldom or
never

0 0 0 5 don't know

0 2 8



49 643 9 Uoplyst
100 100 1321
Svarprocent: 51

e V30 7102 DRIVING VELOCITY
o Special variables, Omnibus no. 02.

o 163A: If you honestly should characterize yourself as a driver, would you then say that you drive relatively slow,
normally or relatively fast on an average?

% MD% Antal Kode Kategori

4 8 53 1 relatively
slow

38 74 499 2 normally

8 17 112 3 relatively fast
1 1 10 4 don't know
0 3 8

49 644 9 Uoplyst

100 100 1321
Svarprocent: 51

e V31 7102 CAUSES OF ACCIDENTS
o Special variables, Omnibus no. 02.

o 163B: It is a well-known fact that it can be wrong both to drive too slow and too fast according to our traffic. Which, in
your opinion, is the cause for the majority of traffic accidents that the drivers drive too slow or too fast?

% MD% Antal Kode Kategori
8 16 110 1 too slow

27 50 351 2 too fast

16 30 212 3 equally

wrong
2 4 30 4 don't know
47 618 9 Uoplyst

100 100 1321
Svarprocent: 53

e V32 7102 GOVERNMENTS POLICY
o Special variables, Omnibus no. 02.

o 164A: Do you think that the economic policy of the govern ment is adequate or not to adjust the economy of the
country?

% MD% Antal Kode Kategori
14 14 182 1 adequate
55 56 728 2 not adequate
30 30 391 3 don’t know
2 20 9 Uoplyst
100 100 1321

Svarprocent: 98

e V33 7102 WHAT GOVERNMENT
Presumably a 'non-social government' means a 'non-Social Democratic government'. I.e. the term 'non-social' is a
consequence of an inaccurate translation.

o Special variables, Omnibus no. 02.

o 164B: What government do you think is most qualified to run the economy of this country, a non-social government or
a Social Democratic government?

% MD% Antal Kode Kategori
27 28 360 1 non-social
government

25 25 324 2 Social
Democratic
government

10 10 132 3 equally good



19 19 245 4 equally bad
18 18 235 5 don't know
1 7 8
1 18 9 Uoplyst
100 100 1321

Svarprocent: 98

e V34 7102 HOUSING PROBLEM
(SHOW CARD)

o Special variables, Omnibus no. 02.
o 165A: Which of these problems do you think should have the preference in order to get it solved? The housing problem.

% MD% Antal Kode Kategori

73 73 965 0 not
mentioned

27 27 356 1 mentioned
100 100 1321

Svarprocent: 100

e V35 7102 ECONOMIC PROBLEMS
(SHOW CARD)

o Special variables, Omnibus no. 02.

o 165A: Which of these problems do you think should have the preference in order to get it solved? The economic
problem.

% MD% Antal Kode Kategori

52 52 684 0 not
mentioned

48 48 637 1 mentioned
100 100 1321

Svarprocent: 100

e V36 7102 POLLUTION PROBLEMS
(SHOW CARD)

o Special variables, Omnibus no. 02.

o 165A: Which of these problems do you think should have the preference in order to get it solved? The pollution
problems.

% MD% Antal Kode Kategori

79 79 1040 0 not
mentioned

21 21 281 1 mentioned
100 100 1321

Svarprocent: 100

e V37 7102 TRAFFIC PROBLEMS
(SHOW CARD)

o Special variables, Omnibus no. 02.
o 165A: Which of these problems do you think should have the preference in order to get it solved? The traffic problems.

% MD% Antal Kode Kategori

96 96 1262 0 not
mentioned

4 4 59 1 mentioned
100 100 1321



Svarprocent: 100

e V38 7102 SOCIAL WELFARE DEV.
(SHOW CARD)

o Special variables, Omnibus no. 02.

o 165A: Which of these problems do you think should have the preference in order to get it solved? Development of social
welfare.

% MD% Antal Kode Kategori

91 91 1201 0 not
mentioned

9 9 120 1 mentioned
100 100 1321

Svarprocent: 100

e V39 7102 HEALTH SERVICES DEV
(SHOW CARD)

o Special variables, Omnibus no. 02.

o 165A: Which of these problem do you think should have the preference in order to get it solved? Development of health
services, i.e. hospitals etc.

% MD% Antal Kode Kategori

90 90 1190 0 not
mentioned

10 10 131 1 mentioned
100 100 1321

Svarprocent: 100

e V40 7102 DEV.COUNTRIES, AID
(SHOW CARD)

o ial variabl mni no. 02.

o 165A: Which of these problems do you think should have the preference in order to get it solved? Assistance to
developing countries.

% MD% Antal Kode Kategori

98 98 1288 0 not
mentioned

2 2 33 1 mentioned
100 100 1321

Svarprocent: 100

e V41 7102 NON SOCIAL GOVERNM.
o Special variables, Omnibus no. 02.

o 165B: Do you think that we are going to get a new non social government, consisting of the three parties: the Liberals,
the Conservatives and the Social Liberal Party after the next election?

% MD% Antal Kode Kategori
24 24 317 1 yes
46 47 610 2 no
28 29 376 3 don't know
0 1 8
1 17 9 Uoplyst
100 100 1321
Svarprocent: 99

e V42 7102 ECONOMIC TIGHTENING



o Special variables, Omnibus no. 02.

o 166A: Do you think that the economic tightening that is going on at present - appearing on the demand note among
other things is necessary as far as the economy of the country is concerned?

% MD% Antal Kode Kategori
61 62 808 1 yes
17 18 231 2 no
21 21 271 3 don't know
1 11 9 Uoplyst
100 100 1321

Svarprocent: 99

e V43 7102 FREE SPEED LIMITS
o Special variables, Omnibus no. 02.
o 166B: At present we have the so-called free speed limit with local limits where necessary. Some would like this to be
changed, so that we get a fixed or general speed limit. Please let me have your opinion about this: should we have a

free speed limit with local limits as we have now or a fixed or general speed limit? (If free speed limit/dont know: go to
question 168A (V45)).

% MD% Antal Kode Kategori
53 53 694 1 free speed

limit
36 36 473 2 fixed or
general
speed limit
11 11 141 3 don't know
0 3 8
1 10 9 Uoplyst

100 100 1321
Svarprocent: 99

e V44 7102 WHAT LIMIT
o Special variables, Omnibus no. 02.

o 167: What limit do you go in for?
% MD% Antal Kode Kategori

1 4 19 1 60 km/hour
3 7 37 2 60-70

km/hour
6 14 76 3 70-80
km/hour
13 33 176 4 80-90
km/hour
8 20 108 590-100
km/hour
3 7 38 6 100-110
km/hour
1 1 7 7 110-120
km/hour
1 1 7 8 120-130
km/hour
0 0 0 9 130-140
km/hour
0 0 0 10 140-150
km/hour

0 0 2 11 150 km/hour
11 59 12 don't know
1 8 88
59 784 99 Uoplyst
100 100 1321
Svarprocent: 40

e V45 7102 POLITICAL INFLUENCE



Special variables, Omnibus no. 02.

o 168: The present Government consists of the three parties, the Liberals, the Conservatives and the Social Liberal Party.
Which of these three parties do you think that should be given most influence on the policy pursued by the
Government: the Liberals, the Conservatives or the Social Liberal Party?

% MD% Antal Kode Kategori
7 7 91 1 the Liberals

29 30 388 2 the
Conservatives

16 16 212 3 the Social

Liberal Party
46 47 611 4 don't know
0 3 8
1 16 9 Uoplyst

100 100 1321
Svarprocent: 99

e V46 7102 NOT POL. INFLUENCE
o Special variables, Omnibus no. 02.

o 168: Which party do you think should be given less influence?

% MD% Antal Kode Kategori
28 29 374 1 the Liberals

5 5 60 2 the
Conservatives

14 14 188 3 the Social

Liberal Party
51 52 677 4 don't know
0 3 8
1 19 9 Uoplyst

100 100 1321
Svarprocent: 98

Instrumentering

Hovedsekvens

Main Sequence

V3: Bus number.
V4: Document number.
V5: Sequence number.
: 101: Month.
102-106: Respondent identification number.
Weight variable
108: Urbanization.
1 112: Sex.
1 112: Age.
: 112: Marital status.
: 113: Respondents occupational status.
: 114: Education.
: 114: Income of respondent.
: 115: Total family income.
: 116: Supporters occupation.
: 117: Total number of persons (in household).
1 117: Type of dwelling.
: 118: Number of children under 15 years.
: 118: Number of adults in household (15 years or more).
: 118: Respondents positions in household.
: 118: Respondents positions in household.
: 118: Respondents positions in household.
: 119: Position of housewife.
: 119: Social group.
1 122-123: For which party would you vote in case of a general election tomorrow?
: 162A: Have you got a driving license?
: 162B: How often do you drive a car, every day or almost every day, often, now and then, seldom or never?
: 163A: If you honestly should characterize yourself as a driver, would you then say that you drive relatively slow,
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normally or relatively fast on an average?

o V31: 163B: It is a well-known fact that it can be wrong both to drive too slow and too fast according to our traffic.

Which, in your opinion, is the cause for the majority of traffic accidents that the drivers drive too slow or too fast?

o V32: 164A: Do you think that the economic policy of the govern ment is adequate or not to adjust the economy of the

country?

o V33: 164B: What government do you think is most qualified to run the economy of this country, a non-social

government or a Social Democratic government?

o V34: 165A: Which of these problems do you think should have the preference in order to get it solved? The housing

problem.

o V35: 165A: Which of these problems do you think should have the preference in order to get it solved? The economic

problem.

o V36: 165A: Which of these problems do you think should have the preference in order to get it solved? The pollution

problems.

o V37: 165A: Which of these problems do you think should have the preference in order to get it solved? The traffic

problems.

o V38: 165A: Which of these problems do you think should have the preference in order to get it solved? Development of

social welfare.

o V39: 165A: Which of these problem do you think should have the preference in order to get it solved? Development of

health services, i.e. hospitals etc.

o V40: 165A: Which of these problems do you think should have the preference in order to get it solved? Assistance to

developing countries.

o V41: 165B: Do you think that we are going to get a new non social government, consisting of the three parties: the

Liberals, the Conservatives and the Social Liberal Party after the next election?

o V42: 166A: Do you think that the economic tightening that is going on at present - appearing on the demand note

among other things is necessary as far as the economy of the country is concerned?

o V43: 166B: At present we have the so-called free speed limit with local limits where necessary. Some would like this to

be changed, so that we get a fixed or general speed limit. Please let me have your opinion about this: should we have a
free speed limit with local limits as we have now or a fixed or general speed limit? (If free speed limit/dont know: go to
question 168A (V45)).

o V44: 167: What limit do you go in for?
o V45: 168: The present Government consists of the three parties, the Liberals, the Conservatives and the Social Liberal

Party. Which of these three parties do you think that should be given most influence on the policy pursued by the
Government: the Liberals, the Conservatives or the Social Liberal Party?

o V46: 168: Which party do you think should be given less influence?

Undersekvenser

Universer

Univers

Aldersgraenser

Personer pa 15 &r og derover, bosiddende i private husstande.

Koncepter

e Gallup Variables.

Gallup Variables.

o V6 V7V8VIOV10V11V12V13V14V15V16 V17 V18 V19 V20 V21 V22 V23 V24 V25 V26 V27

¢ Special variables, Omnibus no. 02.

Special variables, Omnibus no. 02.

o V28 V29 V30 V31 V32 V33 V34 V35 V36 V37 V38 V39 V40 V41 V42 V43 V44 V45 V46
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